8.3 HW Pg. 276 #1-11, 13-14

1. In Example 1, explain how you know to multiply the first equation

by 5 and the second equation by 3.
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For Exercises 2-7, use the elimination method to solve the system
of equations. Identify any system that is either inconsistent or

dependent.
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8. Identify any of Exercises 2-7 for which you might prefer to solve
using the substitution method. Explain your choice.
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For Exercises 9-11, solve using the elimination method.

9. At aball game, one person bought 2 hamburgers and a soft drink
for $7.50. Another person bought 1 hamburger and 2 soft drinks
for $6.00.

a. Write an equation that models the first person’s total cost. Let h
represent the price of a hamburger and d the price of a drink.

b. Write an equation that models the second person’s total cost.

c. Find the cost of one hamburger and the cost of one soft drink.

a) antd=180 - —4;\\;%‘ --1s
b) htad=e00 Bonp
) A hamburger costs h=2

$3 and a’sofrdrink 5 oo

Costs ¥ 1.60. 2d=3 sold=15
10. A florist offers two package deals of roses and carnations. One —_—

package offers 20 roses and 34 carnations for $50.40. The other
package contains 15 roses and 17 carnations for $32.70. Cy(ZD v+ 3"\’& {50 ""0)3

a. Write a system of two equations that models the costs of both - O 5v +1 a {32,‘-}0)—'-\'
packages in terms of the cost r of one rose and the cost ¢ of one

carnation. wov tlozc = |IB\.20
b. What are the smallest numbers that you can multiply each —ov = b%e =- 130 &0
equation by in order to eliminate r from your system?
c. Find the cost of one carnation. 3"\'0‘; 20 -"I’o
a) Z0v +34c =BD MO ¢= 6o
Ior ¥+ Nc =32.10 Each carnatbion
b) The first mulhple that 20 and IS have In cogts ¥D.60

Common 16 (00. ' AsSuch, T would mulhiply
20v +34c =50.4D by 3 and 1By +\3¢c =3230
\oub g,

11. A used sports car costs $5,000, with insurance costing $2,300 per
year. A used SUV costs $8,000, but the insurance is only $800 per
year. After how many yearg would the total cost of owning either
car be the same? Y = ot years

SPoH—s car = 2,2004 +zooo
suv = E‘DD% +Qvvo
2300(3 +5000 = S’b\?u& +gbvod
|66019"— 3ovo

=2
The total COS'L—UD ohing either car
would be the Sme after Zyears.
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13. A carnival booth has small stuffed bears and large stuffed bears
that it uses for prizes. Each small bear is worth $2.50, and each
large bear is worth $5. If the booth has a total of 200 bears, with a
total value of $625, how many bears of each size are there?

8 =14F of small bears

A=# o LarOc. bears
72.6Ds+ 54 =635 —> 2TDs+6L=b35
¢(s+ 2)=(200ys — -5.005 - 52 =-iooD

—_ -2.65ps = -3
There are 15D smoll Sh,qqeo({ $=16v

bears « @ Large Stuffed beans 2=50

14. One type of prepaid phone card offers two options for its use.You

can make a call for 2.9 cents a minute with no extra charge. Or you

can pay a “connection charge” of 40 cents and pay only 1 cent a

minute.

a. For how many minutes of calling is the total cost the same for
both options?

b. For what range of times is the connection charge option the
less-expensive choice?

¢. For what range of times is the 2.9 cents per minute option the
less-expensive choice?

a) DPt‘Iow #1. T=.029m b) Fnr alls over 2\ mins
DPﬁOY\ #2: T=.0lmt.H0 c) &\r CAMS under 2\ mins

«029m = .0lm +. 40
e0l9m =.40

mx 2|
RY opproximately 21 minutes, the
coct Would be the Came Hor both ophons
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